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_Kî l̀kq^_fifa^adr_bok^jbkq^i=`ljlpfpqbj^fkqbdo^al=abfkcloj^`fđkcfk^k`fbo^
`Kbibjbkqlp_ÿpf`lp=ab=rkpf`dqo^kp^``flk^i
aKobnrfpfqlpqć`kf`lp=m^o^=biafpbďl=ab=rkpf`d
bKj^qofw=abl̀ksbopfđk
cKobdfpqolpl̀kq^_ibp=nrb=klprodbk=ab=i^j^qofw=abl̀ksbopfđk
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Ejercicio:
-A�o del ejercicio
Clasificaci�n Administrativa:
-Ramo
-Unidad responsable
Clasificaci�n program�tica:
-Finalidad
-Funci�n
-Subfunci�n
-Actividad Institucional
-Programa y Proyectos Presupuestarios
Clasificaci�n econ�mica:
-Objeto del Gasto
-Tipo de gasto
-Fuente de financiamiento
Clasificaci�n geogr�fica:
-Entidad Federativa
-Municipio


